
4 cos2 18◦ − 1 =
4 cos2 18◦ − 1

4 sin2 18◦
· 4 sin2 18◦ =

=
4 sin2 36◦ − 4 sin2 18◦

4 sin2 18◦
=

4(sin 36◦ + sin 18◦)(sin 36◦ − sin 18◦)

4 sin2 18◦
=

=
16 · sin 27◦ cos 9◦ cos 27◦ sin 9◦

4 sin2 18◦
=

4 sin 54◦ sin 18◦

4 sin2 18◦
=

(1) =
4 sin 18◦ cos 36◦

4 sin2 18◦
,

de

cos 18◦ = sin 72◦ = 2 sin 36◦ cos 36◦ = 4 sin 18◦ cos 18◦ cos 36◦,

mib®l

1 = 4 sin 18◦ cos 36◦,

mit (1)-be téve ered

4 cos 18◦ − 1 =
1

4 sin2 18◦
.

(Fekete Mihály, Zenta.)

Megoldások száma: 34.
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